
14.8 

5. 𝑓(𝑥, 𝑦) = 𝑥2 + 𝑦2  𝑔(𝑥, 𝑦) = 2𝑥 + 3𝑦 𝑔(𝑥, 𝑦) = 6 

     ∇𝑓(𝑥, 𝑦) = (2𝑥, 2𝑦)  ∇𝑔(𝑥, 𝑦) = (2,3)  → {
2𝑥 = 2𝜇
2𝑦 = 3𝜇

2𝑥 + 3𝑦 = 6
→

{
 
 

 
 𝜇 =

12

13

𝑥 =
12

13

𝑦 =
18

13

 

    𝑠𝑜 𝑡ℎ𝑒 𝑚𝑖𝑛𝑖𝑚𝑢𝑚 𝑜𝑓 𝑓(𝑥, 𝑦) 𝑖𝑠 𝑓 (
12

13
.
18

13
) =

36

13
 𝑎𝑛𝑑 𝑡ℎ𝑒 𝑚𝑎𝑥𝑖𝑚𝑢𝑚 𝑖𝑠 + ∞ 

7. 𝑓(𝑥, 𝑦) = 𝑥𝑦 𝑔(𝑥, 𝑦) = 4𝑥2 + 9𝑦2 𝑔(𝑥, 𝑦) = 32 

      ∇𝑓(𝑥, 𝑦) = (𝑦, 𝑥) ∇𝑔(𝑥, 𝑦) = (8𝑥, 18𝑦) → {

𝜇𝑦 = 8𝑥
𝜇𝑥 = 18𝑦

4𝑥2 + 9𝑦2 = 32
→ {

𝜇 = ±12
𝑥 = ±2

𝑦 = ±
4

3

 

      𝑆𝑜, 𝑡ℎ𝑒 𝑚𝑎𝑥 𝑜𝑓 𝑓(𝑥, 𝑦) 𝑖𝑠 
8

3
 𝑎𝑛𝑑 𝑡ℎ𝑒 𝑚𝑖𝑛 𝑖𝑠 −

8

3
. 

9. 𝑓(𝑥, 𝑦) = 𝑥2 + 𝑦2 𝑔(𝑥, 𝑦) = 𝑥4 + 𝑦4 𝑔(𝑥, 𝑦) = 1  

  ∇𝑓(𝑥, 𝑦) = (2𝑥, 2𝑦) ∇𝑔(𝑥, 𝑦) = (4𝑥3, 4𝑦3) → {

2𝜇𝑥 = 4𝑥3

2𝜇𝑦 = 4𝑦3

𝑥4 + 𝑦4 = 1

→ {

𝜇 = √2

𝑥 = ±2−
1

4

𝑦 = ±2−
1

4

 

   𝑠𝑜, 𝑡ℎ𝑒 𝑚𝑖𝑛 𝑜𝑓 𝑓(𝑥, 𝑦) 𝑖𝑠 1 𝑎𝑛𝑑 𝑡ℎ𝑒 𝑚𝑎𝑥 𝑜𝑓 𝑓(𝑥, 𝑦) 𝑖𝑠 √2 

11. 𝑓(𝑥, 𝑦, 𝑧) = 3𝑥 + 2𝑦 + 4𝑧 𝑔(𝑥, 𝑦, 𝑧) = 𝑥2 + 2𝑦2 + 6𝑧2 𝑔(𝑥, 𝑦, 𝑧) = 1  

   ∇𝑓(𝑥, 𝑦, 𝑧) = (3,2,4) ∇𝑔(𝑥, 𝑦, 𝑧) = (2𝑥, 4𝑦, 12𝑧) → {

3𝜇 = 2𝑥
2𝜇 = 4𝑦
4𝜇 = 12𝑧

𝑥2 + 2𝑦2 + 6𝑧2 = 1

 

    

{
 
 
 
 

 
 
 
 𝜇 = ±√

12

41

𝑥 = ±
3

2
∗ √

12

41

𝑦 = ±
1

2
∗ √

12

41

𝑧 = ±
1

3
∗ √

12

41

, 𝑠𝑜 𝑡ℎ𝑒min 𝑜𝑓 𝑓(𝑥, 𝑦, 𝑧) 𝑖𝑠 − 3.7 𝑎𝑛𝑑 𝑡ℎ𝑒max 𝑖𝑠 3.7 

13. 𝑓(𝑥, 𝑦, 𝑧) = 𝑥𝑦 + 2𝑧 𝑔(𝑥, 𝑦, 𝑧) = 𝑥2 + 𝑦2 + 𝑧2 𝑔(𝑥, 𝑦, 𝑧) = 36 

 ∇𝑓(𝑥, 𝑦, 𝑧) = (𝑦, 𝑥, 2) ∇𝑔(𝑥, 𝑦, 𝑧) = (2𝑥, 2𝑦, 2𝑧) → {

𝜇𝑦 = 2𝑥
𝜇𝑥 = 2𝑦
2𝜇 = 2𝑧

𝑥2 + 𝑦2 + 𝑧2 = 36

, 𝜇 = ±2 

𝑠𝑜 𝑡ℎ𝑒 𝑚𝑎𝑥𝑖𝑚𝑎 𝑜𝑓 𝑓(𝑥, 𝑦, 𝑧) 𝑖𝑠 20 𝑎𝑛𝑑 𝑚𝑖𝑛𝑖𝑚𝑎 𝑖𝑠 − 20 



15. 𝑓(𝑥, 𝑦, 𝑧) = 𝑥𝑦 + 𝑥𝑧 𝑔(𝑥, 𝑦, 𝑧) = 𝑥2 + 𝑦2 + 𝑧2 𝑔(𝑥, 𝑦, 𝑧) = 4 

∇𝑓(𝑥, 𝑦, 𝑧) = (𝑦 + 𝑧, 𝑥, 𝑥) ∇𝑔(𝑥, 𝑦, 𝑧) = (2𝑥, 2𝑦, 2𝑧)  

{

2𝜇𝑥 = 𝑦 + 𝑧
2𝜇𝑦 = 𝑥
2𝜇𝑧 = 𝑥

𝑥2 + 𝑦2 + 𝑧2 = 4

→ 𝜇 = ±
√2

2
 

𝑠𝑜 𝑡ℎ𝑒 𝑚𝑖𝑛𝑖𝑚𝑎 𝑜𝑓 𝑓(𝑥, 𝑦, 𝑧) 𝑖𝑠 − 2√2 𝑎𝑛𝑑 𝑡ℎ𝑒 𝑚𝑎𝑥𝑖𝑚𝑎 𝑜𝑓 𝑓(𝑥, 𝑦, 𝑧) 𝑖𝑠 2√2 


